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The best answer or diagnosis:
endometritis

C) Small cell carcinoma

]+ Adenocarcinoma, Squamous cell carcinoma,

A) Normal menstruation B) Chronic

D) Lymphoma

The best answer or diagnosis:
The best answer or diagnosis:
The best answer or diagnosis:
The best answer or diagnosis:
The best answer or diagnosis:

The best answer or diagnosis:

HSIL

Radiation
SCC

A) Repair B) Adenocarcinoma
Trichomonas

A)HSIL B)ASC-H C) Normal endometrial

cells D) AGC, endometrial origin

The best answer or diagnosis:

The best answer or diagnosis:
segment

D) Parabasal cells

HSIL
B) ASC-H C) Lower uterine

A) HSIL

The best answer or diagnosis:

A) Satisfactory B) Unsatisfactory

The best answer or diagnosis:
The best answer or diagnosis:
The best answer or diagnosis:
The best answer or diagnosis:
The best answer or diagnosis:

The best answer or diagnosis:

AIS
HSV

Melanoma

LSIL,

____ Cryptococcus

A) Polyoma virus B) Urothelial carcinoma

The most possible primary site:

A) Breast B) Lung C) Ovary
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List three immunostains needed for confirming diagnosis:

_Calretinin, D2-40, WT-1, BAP-1,

The best answer or diagnosis:

The best answer or diagnosis: ___ Multiple myeloma

Adenocarcinoma, signet ring

The best answer or diagnosis: Small cell carcinoma
The best answer or diagnosis:

The best answer or diagnosis: The Bethesda System for Thyroid FINA
AYTBSI B)TBSIV C)TBSV

Pleomorphic adenoma

The best answer or diagnosis: A) TBSII B)TBSV C) TBS VI

The best answer or diagnosis: Mucinous carcinoma,
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